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International Trade 

Å International trade is very popular. 

ï World exports (2014): $17,779,000,000 

ï U.S. exports (2015): $1,510,000,000 
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Autarkic States 

Å North Korea (Juche) 

Å Taliban Afghanistan 

Å 1980s Romania 

Å Other places no one wants to live 

Å Other places for very short periods of time 
before someone realize how bad of an idea 
this is 



Why do states engage in trade? 



Absolute Advantage 

Å One reason: some states are better at 
producing some goods than others 

Å States can make what they are good at and 
ǘǊŀŘŜ ŦƻǊ ǿƘŀǘ ǘƘŜȅ ŀǊŜƴΩǘ ƎƻƻŘ ŀǘ making 

 



Example 

ÅCalifornia produces a lot of wine 

ïGrapes are easy to grow in the Napa Valley region 

ÅMexico produces a lot of tequila 

ïTequila is a 
derivative of 
agave, which 
grows in 
Mexican deserts 



Example 

ÅCalifornia produces a lot of wine 

ïGrapes are easy to grow in the Napa Valley region 

ÅMexico produces a lot of tequila 

ïTequila is a derivative of agave, which grows in 
Mexican deserts 

ÅCalifornia has an absolute advantage making 
wine, while Mexico has an absolute advantage 
making tequila 











¸ƻΣ aŜȄƛŎƻΣ LΩƭƭ ǘǊŀŘŜ ȅƻǳ 
three bottles of wine for 
three bottles of tequila. 
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¡Claro que sí! 










